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4.5 day 1 — Required Practice

N\ Evaluate the integral.
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Evaluate using u-substitution or Reverse Chain Rule (whichever you prefer)
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4.5 day 2 - Required Practice

Evaluate the definite integral.
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Evaluate the definite integral.
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4.6 — Required Practice
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4.7 day 1 ~ Required Practice

Evaluate the integral.
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4.7 day 2 — Required Practice

Evaluate the integral.
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4.8 — Required Practice
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4.9 — Required Practice
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Evaluate the integral.
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4.10 - Required Practice
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‘Evaluate the integral.
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4.11 — Required Practice
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I\Evaluate the integral or state that it diverges.
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Unit 4 Part 2 Test Review

Evaluate the integral or state that it diverges.

#1. [sind do

: " : #2. I7.x3 (3x4 +6)‘7 dx

| #3 .“II;FQOSX

dax

sin x

#4 f X sih (2x) dx

il
s, jé3x dx
)€

#14 j

-
- dx
;_#6. '!);_C-(lnx)z .

#7. Is_in3 XCosx dx

..l

Sl Yoy Sl

‘..#9.' j

1 —dx
¥ +16

| #10. jé(mx) dx

#11. _fScscz x dx

#12. j' e dx

#13. % sin(x) d

3
Jo-(x+5)’ #

3
1

2-_ dx? o
2




#16. 22’ dx

#17. J.;zdx
(x-10) +36

#18. J.secxtanx dx
#19. _[xze" dx

X +3x

#20. I(4x+6)e ) i

1
w1, | ———rdx
! (x—1)5

“H#22. J‘_.}_J.C.._:_%__dx
x =2x-8

#23. J.sin3 xcos’ x dx
#24. [2x7" dx
#25. I secx dx

#26. Icsc x dx

T ox
#27. I—V dx
ax’?

#28. j

\J16—x*

#29. jsin x dx

#30. Icosz x dx

#31. j—l—dx
x°=5x~14

1

#32. J.—-—~—————dx
x* —12x+38



#37. j

1—sin’x

#33. j dx

cos X

#34. [ xe* dx

#35. jcso“ xcot’ x dx
) \

H#36. len(xz)'dx
3

secx
tan’ x +1

#38. I7esx dx

#39. _[cotx dx

- #40. _[ 2x* cos(x” ) dx

/™

X )
i
#41. ) (1_x3)2
#42. J.3secz x dx

2t

(r-3)

#44, _[tan x dx

#43. j dt

#45. jcscxc‘:otx de
#46. J.xln(x) dx

sin x +secx

#48. _f3x ln(.x2 ) dx

#49. Icosx(l +sin’ x) dx

#50. I(x3 +e* + cos(x)) dx



Unit Y fart Z —f}, stredied — SOVTIONS

&2 (@ fantegfie ub
al AL ws3 xHb
g U wdw) ﬂx s ?
% gu:}“d« _ Az (2 y3cdx
Xl = ""g’g:,«d “
Z(gut)+e !

Z(§) rugisc (i |

1%
— s
C@ f—[__-{_—_C_%?_r dx (commo dzﬂwh’l/")
SdnX v
A 221,48
g gﬁ;\ﬂ‘@ dx + g _(,h‘&d‘x
y-Sud
(C%X Ar+ S é’%d& u= Si0X
»
| | %ﬂg Lok
gcscni&»fr S ‘%; pY clins-caswal®

s

i:ia Lesex ~etX

\ = o [ snxl+ ¢

" wremorite Sfe&xa(x = Jh lfa,c;x-ef»"{“m)«(ﬂi‘ )
and jﬁiéﬂdx :/@n {cfcxwm-é»zeé-,; ¢




Y=, gﬁw = ¢ (ool

' @ Jusinlzddx by parts

Au g e = g’,ggm (fz;w) e

2

ff{@&fmﬁ@ 5@?‘: Y

wv = j v ﬂ[ v
_—--Ld(w"(CZ}:) - j G"'éwj éz?\)%
—dvaos(29) +3 [eas (2P

o «,%ﬂ £of (12%)

s a—

Ho JEsves

w/ Mrwenw?e,r

-
@ (e _ Y
. LA 5&?@‘?‘“ a4 ?mggf\?f@f ey r"”{)

!

e’
2 A

g0 | b
1 a1 P [ (et Sty
?f;m 2 ‘ valess

on FedkE _

m‘gm‘(mﬁw say




R\ ;
@ }g Mx)zdﬁ

by
- AL —— oK
g {;”@ g K

Y.
R ik

-L 1 _ =L
/b@/’w 1/1@) Anl?D

A
o T ] An(3)

u—$4
\
—adx =
x(® da 1

@ fsfh"f'xcafzc dX  u=snx

Ay~

5 u? Ay d{,(;oajxdx

:

: ‘é%’( sitrc |



D)

T L

- partatfreced

PRSI

——\——~~*4“_%~.é¢
oy XY

y)s)
Alwrs)+60x ) =)
Ay ySh-+Bx=HE =1

(pr s (sAB =
Aot =0 M’*‘t\;"
sa-BE) jff”‘ijfmw - v
ﬂ/\")/ ( 47’/q . /5; _{
L
Qf A '5 "L\S Xff—S’dX
l} Lpalx=v) —HLalxest e Z
= S — ‘f“ﬁ;"‘% e
)Y TR 7B
! = |
5 e
Lt =55 rio o,
X —/‘i-éuw fr”’—g%fé; A =NCora
o I
dor ey Serors &/xf;w.
d}t z*"iﬁ.’?;@ﬂz@'da"
g \ yselude
Yseco
J Seco do
/gvt k@w‘-f"&mérf <
M‘ﬁ”ﬁ" f’r“’{w‘f'}

Cean

* Vo kit

‘“"g'ﬂ” ”{é‘c& &W‘«y&m{g meﬁﬂﬁ@?)



Sugests we. codel U2
Mﬁ@x
% =€

. 1rmmxmmmn«m-ammnmm:¥



@ 5%‘%%6&& by (s [fwice)

u=x& vz S

™ d
= JZK §@fv = §smmfx
Au= /Z-MX vz —CaiX
wv— fvdu |
Xy — § (s Trlx
A . = diy = carx e
=¥ %eosx a&zjﬁ Ak M@q 4 ..
‘ ﬁ;‘f - M@,f §¢"an&"
eha wel¥ Y= Sx
—Youx+2 [uv- Jueld”)
"kztdf)( ‘Q"Z»[}{ S = jﬁt“@?ﬂj
y”‘%«m 42 [ xsix +aafx’)~f~ c {
S
L D (2= .y
W%*’“é}(&f) / J‘”’% “"(}WS)E«*
o ( 3) = (ent)e
? ~3)Sime- o [ Aegees)
5 " o losor = 25 Sy Atz
2 sme | 2 2
J» 5 dor X455 3 Gal Jatarse =350
. X = deaie -3
-%26 +C dx — =
| - e =
a —3 curless 63:%5:} - f Ax =% Sgrdler
b = a‘éaﬁ( X%Y)

vl
"“"‘Wef‘-?dwx ﬁi@f%fg“}} 4

Wax«w&ém Voo

. gy | WX Az 3
% jr&"’” ! A =dlx

B LZ artsin e | eifter (5 doneef




a

Yzdx
= ’g b"‘“ ? e
-"}”__ ; X z,ﬁ(x« ‘ii/é)@* g g:;&j?\ j/f,é.z.}z &’ﬁ{ N
= Aw A -z -zl e
= Ai [&jﬂiXWfﬁfz 4 At levt{x,%g ?;
. : ol
ﬂ&z 2 Dlp-zl - ehalx-d + 2 Julez) - ﬁ‘\” P2 du] Loal] Z/a
—R A=z ¥ I B A
' | ,&mww

@ § 2x7 ok
T |

@ S =
‘{"x”“’)'z*'}%é Ax =X  a=é

du
W Ao ” {
utta- A chn =¥
_L—
‘L%’m éé‘l = & 6{/(%.7%?{ a}q(}

i le}&’"‘fvf&mé%)%a j




 and

(8 f re@mmx :- ?Emwm]

N .
@ f x'e e W.I (wice)
usx*  dv e et
| %g?ﬁ ‘géﬁv z jéf@iﬂ
| ol XK V= prs

e o fxetd] 4k AveEd
B oinJetde

¥
m?"ﬁ&}f LV - @g

et 2 v Juck]

K¢ -2l ke ‘fje“c:fx)

A G s SR
s
FNY

3>< -*'Zua@ —«@%Q !)
@ fé‘f ¥b) LSO e
Ox%43% 4 oz Y E3x
2(2x3)¢ e
g < ﬁ =2wt
2" du aﬂm{zwm




@ S;— \ i Vartea) aSpaplele at X=t 5 wfin gt fodena) ‘Z‘\-”f’off")

b0
> A fb (5% hm (7 ™ "”'
= . o) g — -
b1~ o Ao+ g (x=n " o j[" I
d Auv=dx
Ju e
b | & W 5
= f i;zx,,f’f TN W T e
bam LT ]e Zém[%{x ) r’}ﬁl ) !
%
z( i) Fe

v [ (-DE) —E (o SUD"
'}’él_f,”,—("iul ) > o) + (?S’—'i) f%{( (4->*)

O

5
{ '»Tf‘l)
@ S U5 b
y3’—~2>‘ *3 U= x>-ZrY

A
§ Loge e e
u @4 du = {gﬁwwx

/@fuﬁ C

lapeatee |

RO

R BT



(sotxeos® shedx  deux

| 5( (—tor ) 25" X Sinxelie Sipdy =4

ST( (—w?) S (~du)
- S ( W u:*) A

- Tult pu fic

}:? w3ty § cosPue (

g j | N
@ fextac = 2 {yax ,7} 243l +C E
] Sf ec X ok
}jwém ctandt |
o \\ Wewsrorie fheose
- N

gwc:. w e
} Ialesex—asteliC {




N 5

f/t% f XAVZ'//(

79@';{

= /&‘W Z{’g““f x“}/iib
- h—?m[ 3 27&]
[ aéb)"/] C/ %v)i’z)

© + 3‘5?};{& { gé’e{)lk

e ————————"

Pat—
Lz ?
: X
720 g . Hx Ay deh ¥
\ 16—y ¥ ﬂ-ﬂ*“’ﬁ "Zfdévwx%
Pt S
X
S wc@fg 3[“”“{) St e ’ (ofer = %‘ |
Y Smer ’
_ ¢ o o
- 4 § cos Zer dtr | e . \she
ot e M
U= 9N
—6t f [(«5&%)@5&049 %,w@
o = c50- A9

v Ct'tﬂ o
oy + G

—4 Y Se %éﬁ%}@”f’a

AT

l——w[@ f\‘r“%:i;( =Y i\




{

@ | f s XA

S(!*M(i%))dk

———

M{ Ly —Fem(DIHC (/

@ § cw%sjdx:
(122
g 5 A + gj&»ffw}m

EAN j@ffg*j s (24

— L\ w sk =t LncAorable = /;m:v(,.—f@aaw
(*:\?j’» S ¥ % xx-tY { X-7) (2D
A B

CM}{W’A} = X—F X*’"
Al + ) =\

i ? Prt-BX -8 =
A;A:6‘>X+v(2k'?6)‘/‘/?3**{‘)
oA BT
oo ©

Zjﬁﬁ,@m [ttt P RN

’ T g
. @ WM,,@ /‘;? /@m%‘ff‘f %

"L
4§ a0k 4 et
[ ke {




@ ‘ { | 4(055%4"{\2(0/&/[ So Cowylekefre Souare —/~97‘~7 4~ arckanfarm
epay 38 K TwrEsEE

(x—6}¥ +2
™~ &dﬂ#}?ﬂ ;5 dfcfz?ai willwk =

|
5 Cx—»é)?»rz"b‘ wo X6 A=z

= b arctn[E)tE

kj‘—; avttan ( x-v—:f\};»c, ﬂ

-

' (=sn | S Wby -car O =
# ) ZK W =

Cse [-SMEX el 0K

oo

oS ¥
S £os w dx

P ‘

@ fre¥on by padts

=X Ay :w@\%(x
%;f“ =1 50(,«/:/ Yok
A=k v=e*

v = f volu

dmww

LK@ " +C g |




@ fc;c‘ix,;,,ﬁx dx W=t
| | %ﬁw_@c o eorx 5 =/
3 . x S X sty shx
gcf‘ﬁz}w”{f Y s ¥ AY du = ~CC XX
T esctxds = —dy (ot & 4 (= €5 >

§ (cot?+i) wt?x sCxdx

§ (a2 (40

j (%3'4“3)9(«

yé — ‘f+c

/,__,,__——-—————_

|4 ctx Aot +<

o )
@ 3{ XIA ()cz?d)ﬁ

b o
. PR
fon S et Sxkale "2
| el
/ j’; _(?';cd
m J[ oL T 17 ) =Tl A
B )~ X:( %g/{"‘(@d‘“ Ay Elit

7=

T alh) b1 % B GREE iy pﬂ lo) 4}] e leter BrtT

o

[divenges |

VDAJ bj/aﬁfj so | &H&é\cxw/—ag

wohnty) A=A
i[%v/fvdw] % 7,5 f(,(v = Idj
durgdly  VZI
L[y fabi) 595 9)
4 (ytaty) —§ 1]
Z
4 Ly Lyly) — -9 =
r\ é/ ML§WW7L\%'
3 [ ¥l =3




’ f’\ ffﬁ?&“w ;
Jec 2 Rallisat
@ 5 = dx o ik X

"/_éml X = Sfecr )(

V’}
?Z
A
N

sy
S % Q()C M,MSM

- snY i
‘ 5’_&5(“ 5%; el
chy ww‘s‘x&{x
/ént%(—'!’cv »
i
!j,t[smﬂ-éff« j



u=Sub

(Fic) §zXaldd Sa

§ X" eos (x¥) 2xdx -
M{mwz‘%d&
5u« cos () du o) by o )
ﬂ:}&awg@ mﬁé@ A

fj ! [y)dﬁ u=sy dv = m. Y ij
Uv -~ gu dv | % o) Jdv = }eosyely
y sing - | sy da durdy vz S0
y sing 4cofq +C Y = u =x

(. sm(x")%@s&?}é( {

—dy,




' © xt Fuo Hssves | — 2 limi and o
@ g u/y?)zp()( | — e et mS}wﬁf%ﬂ Xzt 5 wAlh leval
o

CM&&"f”Sf@’H‘)
_ 2 »
Y2 SE S J xX= USut
o P d § ek St
o d*’l’ i+ A ! __‘__( . ) %“; ;‘_?x'z.,
e e = =5
—-Jﬂj‘ u’z’ “ ¥y ”'_%d"l
—
/J}» u/‘
/@ﬂ/"\ [ 4 Aw [ ?émﬁﬂ 30 3U-X?)
31~ x3) d .
l
o e
Vo ‘,_,,_.L.m*} o weﬁs/m (3(‘,@)] )Q’*’Z,%mﬂ
272 - [ 3-p2 0 T ?ésméw)’} a5
bt ‘ | N o -_.vao

WMW

(ﬂ(MQeS ) (;:m/t §“"‘§L4>/ a.) w«sﬁ?M a§ =
: Jee. any M‘f%@)




@ f%fa Ty dx ;}%fqax.ﬁg“{

»%}f‘

mwmw

@ 5 Zf{? 2 M 2/&”3 ) t=u3

£

57’3‘(—@ A g zdt
s R

Zg ':I oy +6 5(['7“@{9(
2hale) + < ltc

/ZJAM-‘B\ -'é“‘mgq;,=

@ § tanxalx | |
Uiud

Sink
5 d% (=X

cal ‘& .
s e i
w'&‘ j ul+¢ ¢ iny & = ~dY

I—— A



C
& Sorrckud = Corer 2 )

O ijnéy)a(x %ﬁ e

Qo s, f o J el
T =

vz X
A w*ﬁ& clx

whlm«\w%““«m‘»\ﬂmuw

@ S'Sﬂm-ﬁﬁac,)c e
~

v (22 ax

5 A mx)

g -(:vzr\y,

e tos X 0()(
+ .WMC
g ’ 9% Si\?\‘& X S

S cos X dx + g =4
(eorxdxs § csmdx

é Sk \ -é-» C




@ § 3ty b usub
U=x®

| S"%féﬂ CM)[%"&&} ‘%c =X

g 52X e
2 5 1) é@ 12, by prts (G rk-chan ¢ (eher)
: Lﬁ“fl"’ﬁ v = dy
AL Ao )
aﬂf «,;’r“éj é(j Vﬁ‘%‘g
% [uy-Jveld

] 2 [x%b O®) wx?lj +C ?



@ {&’fx(l'f'fmz)() Ax | (’Li‘:’é,.f

Y =SiNK
D g Lit Lﬂ)dq o‘av; —CasX
_ cosxdX
u -+ 'BLM?-;‘—C cla ,éajzg
i3|V\X 4"!3“ 5‘W?X’€"Q_ (
. @ ,S (X‘3+e%€ -i;»@aj&))dx
f i+ e panldC *R



